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90.5 (6/6) 87.8(6/6) 83.5(6/6) 84.5(6/6)
YHOC 90.3(6/6) 88.2(6/6) 84.0(6/6) 84.6(6/6)
90.4 (6/6) 88.3(6/6) 83.9(6/6) 83.7(6/6)
YHOA 100.2 99.3 99.8 99.0
i;ig)“ 95.0~105.0% YHOB 100.4 100.2 100.6 99.7
YHOC 100.1 99.2 101.3 99.6
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96.2(6/6) | 93.6(6/6) | 86.8(6/6) | 87.5(6/6)
YHPA | 96.2(6/6) | 95.1(6/6) | 87.5(6/6) | 87.6(6/6)
97.1(6/6) | 93.3(6/6) | 87.9(6/6) | 87.8(6/6)
97.3(6/6) | 93.8(6/6) | 86.7(6/6) | 87.9(6/6)
Yg?ﬁ)’)*l ffffg;&ﬁ YHPB | 95.3(6/6) | 94.4(6/6) | 87.1(6/6) | 88.3(6/6)
' " ' 97.8(6/6) | 93.0(6/6) | 87.5(6/6) | 89.1(6/6)
95.6(6/6) | 95.2(6/6) | 89.5(6/6) | 87.5(6/6)
YHPC | 97.4(6/6) | 93.5(6/6) | 87.3(6/6) | 88.1(6/6)
96.2(6/6) | 94.2(6/6) | 89.4(6/6) | 90.0(6/6)
YHPA 99.2 100.9 99.3 100.5
’%g\%gz 95.0~105.0% YHPB 98.9 99.7 99.7 99.6
YHPC 99.5 100.3 100.9 100.7
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